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Warm-Up Questions: Simple Probability

You have a bag of marbles with 6 blue marbles,
4 red marbles and 2 purple marbles.

1) What is the probability of getting a blue marble?
& [ .
o = g=12=.5-50y/
2) What is the prob%lity of getting a red marble?
P 5
L - = 33/
3) What is P(purple m rble)?’
2 = e= 167/

EY .
4) What is the P(blue)? 1727
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Lesson Set: Connection

Learning Targets
I can find the probability of compound events

I can compute probabilities for situations with and without replacement
I understand when events are independent or dependent
I can identify when two events are independent

I can compute the probability of two independent or dependent events

Aug 26-1:59 PM

Let's say that a teacher calls on students by drawing names
from a cup.

Independent
Probability

The teacher calls on a student by drawing a
stick, after the student has answered the
question their name goes back in the cup
with the rest of the students.

Dependent
Probability

The teacher calls on a student by drawing a
stick, after the student has answered the
question their name stays out of the cup
until everyone else has been called on.
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Skill D: Explain & Model

May 10, 2016

Questions on Homework?

Mar 10-12:50 PM

You have a bag of marbles with 6 blue marbles,
4 red marbles and 2 purple marbles.

What is the probability of getting a blue marble
and then a red marble if you get to keep the blue
marble?

Compound Events - A situation that involves 2
or more events or steps

Lesson Set: Hook

Dependent
Probability

« Pick something, keep it out.

Independent
Probability

« Pick something, then return it

« Denominator stays the same each « Denominator decreases after each
"Dick" "pick”

« Item has the same probability of being « Item has a better probability of being
"picked" each time. "picked" each time until 1/1.

« Key words: replaced, returned, put  Key words: Keep it, do not return.

back.
« There can be multiple picks, as long

« There can be multiple picks, as long as one item is picked at a time.
as one item is picked at a time.

Skill Development: Explain
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Determine whether each situation is lindependient or Dependent
Probability. Drag the correct type of probability to each question.

A jar contains 6 blue, 3 red, 5 green, and !
yellow candies. Once a candy is drawn !
is not replaced. Find the probability of :

etting 2 greens? H
Dependent :

A card is drawn from a deck of eight 1
cards with letters A, B, C, D, E,F, G, H. |
The card is replaced and a second card |
is drawn. What is the probability of 1
gettinga B and a F? 1

: A jar contains 6 blue, 3 red, 5 green, and i
i 2 yellow candies. Once a candy is drawn H
; itis returned to the jar. Find the i

; probability of getting a green then a blue? :

! Acard is drawn from a deck of eight

! cards with letters A, B, C, D, E, F, G, H. |
! The card is not replaced and a second !
! card is drawn. What is the probability of

: etting a B and a F?

Skill Development: Model

To solve for independent/dependent probability multiply the simple
probability of each pick. Make sure to take into account if the item is

replaced or kept.
Independent
Probability

A jar contains 6 blue, 3 red, 5 green and 2 yellow
candies. Once a candy is drawn it is replaced. Find the
probability ofgetting 2 greens. (| G)
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Dependent
Probability

A jar contains 6 blue, 3 red, 5 green and 2 yellow candies.

Once a candy is drawn it is not returned to the jar. Find the

probability of getting 2 greens.
I
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Skill Development: Demonstrate

Work with your shoulder partner to solve for the independent or
dependent probability as appropriate.

A jar contains 6 blue, 3 red,
5 green, and 2 yellow candies.

1. P(two red candies) if replaced.
3ie Vi35

3. P(two greens then a red) if replaced.
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2. P(a yellow then a blue) if replaced.

o ~ 29 bo

4. P(two blue candies) if not replaced.

g _ —
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5. P(ared then green) if not replaced. |- 7 6. P(three greens) if not replaced.
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Guided Practice

May 10, 2016

ultiplication Rule

When 2 or more events are independent,
P (A and B) = P(A)*P(B)

P(AMB) = P(A)"P(B) When 2 or more events are dependent,

P(A and B) = P(A)*P[B (following A)]
P(A M B) = P(A)*P[B (following A)]

Independent Practice

Guided Practice:

! Acard is drawn from a deck of eight
; cards with letters A, B, C, D, E, F, G, H. i
i The card is replaced and a second card !
i is drawn. What is the probability of
! gettingaBandaF?

[}

i Acard is drawn from a deck of eight !
cards with letters A, B, C, D, E, F, G, H. !
The card is not replaced and a second :
card is drawn. What is the probability of |
gettingaB and a F? i

Guided Practice

Janie has a .7 chance that her Lacrosse team will win
each of their games this weekend. If they play 3
games, what is the probability that Janie's team wins
the first game and loses the other two?

lwan) =. 7 7.2 -2 = 263
3 R

Independent Practice
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pproximately 20% of all American smoke. Suppose
that 2 Americans are selected at random. What is the
probability that both Americans are smokers?
2w/ - 2/ .
2 - = 04 =4/
What is the probability that both Americans are non-smokers?
8§ .8 = &4/
If 5 Americans are chosen, what is the probability that all 5
re smokers? 2.2z o2 2 s

:_5}25"1‘ =.

Independent Practice

May 10, 2016

Homework:
2.2: 1-7,9-16

Learning Targets
I can find the probability of compound events

I can compute probabilities for situations with and without replacement
I understand when events are independent or dependent
I can identify when two events are independent

I can compute the probability of two independent or dependent events

Independent Practice
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Q  Probability Extra Practice.pdf



Skill: Independent and dependent events

Probability

Name

What is both small and large? |f -

To find out, find the following probabilities. Then, find the answer af the bottom of the
page and put the corresponding letter above each.

R. Draw 2 marbles without M. Spin each spinner M. Tossa die- twice.,
replacing them, once. -

P (black, black) = P (odd number, even P(5,2) =
? 1 number) =
Ist draw 2nd draw
O. Spin each spinner U. Draow 2 cards without l. Draw 1 marble from
once. replacing them. ecch box.
db . P(7,3)=
P(B.Y)= ) P (white, white) =
1st draw 2nd draw
H.  Draw 2 cards without B. Tossadietwice. P. Draw 2 marbles without
replacing them. |' replacing them. |
P G <T 4, muh‘iplTe of4) = PE#E>4,#>2)= P (black, white) =
: t 1

Istdraw  2nd draw 1st draw 2nd draw

8. Draw 2 cards without replacing them. J. Draw 2 cards without replacing them.

26, IW E@ (A
- P{even r;umbér, even r%umber)= P(C,.O=
1st draw 2nd draw Tst drd\j:l 2nd draw
1l 1 1 2 3 l 1 3 & 1 1
10 42 4 Q 20 5 12 1 16 3 15 .
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